

Mindy Weiss

02/07/2025 09:00 AM | Install Day 1 morning Shift Tent only 02/07/2025 10:00 PM | Installation Day 1night Shift 02/08/2025 08:00 AM | install Day 2 02/08/2025 02:00 PM | Change OVer 02/08/2025 11:59 PM | StRike PO: Shipping Address: Hillcrest Country Club 1000 W pico BLVD Los Angeles Ca Invoice Date: December 17, 2024

Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Additions					
	Banquette Boxes 6'x x18" Painted in arcade White	3	\$180.00	Т	\$540.00
	Truss Covers for - Lighting 12"x12"x12'H in Dark grey Scuba	6	\$72.00	Т	\$432.00
	Roll of Stretch Velvet Grey - Scuba Grey - Green Close to the paint	1	\$0.00	Т	\$0.00
			Total Additions		\$972.00
Ceremony Area					
	Velvet Ceiling Cap	1	\$0.00	Т	\$0.00
	Fabric Treatment in Grey Two Tone Chiffon With BackingDrape	1	\$14,400.00	Т	\$14,400.00
	Fabric Treatment To inside tent Ceiling All Walls Will Be Double Sided (inside and Outside) The front entrance will have a pullback Back Wall Will need to be pullback after Service				
	Oversize Props - Concave Box Valance Awning	2	\$180.00	Т	\$360.00
	in white With Details In Grey 96"W bottom 48"W top x 20"D x 30"H - 12" Valance				
			Total Ceremony Area		\$14,760.00
Cocktail Switch					
	Panels - Hedge Panel 4'x10'	4	\$192.00	Т	\$768.00
	4'X10'H				
	Accent Tables - Rome - Round 02 - Off White 15"D x 20"H	8	\$192.00	Т	\$1,536.00
	Barback - Boston - Round W/ Plexiglass Tier Shelves Arcade White 4'2"D x 7'2"H - Color Upon Request	1	\$360.00	Т	\$360.00

Bars - Monaco - Spc Round (e/ Bar: 4 Large - 1 Small) 1 \$5,400.00 T \$5,400.00 Palmet Arcade white High glosses custom Printed Deal for Front of Bar 16 'UTDam x 37'H - Color Change Upon Request 6 \$42.00 T \$252.00 In Cety Como Velvet with Piping NEW 18'(ND x 17'H - Cover Color Upon Request 12 \$30.00 T \$360.00 (4) 10' x 17'H - Cover Color Upon Request 12 \$30.00 T \$360.00 (4) 10' x 17'H - Cover Color Upon Request 12 \$30.00 T \$360.00 (4) 10' x 17'H - Cover Color Upon Request 12 \$30.00 T \$360.00 (4) 10' x 17'H - Cover Color Upon Request 12 \$30.00 T \$360.00 (4) 10' x 18' White Suede (4) 10' x 18' White Suede (4) 10' x 18' White Suede (5) 10' x 18' White Suede (6) 10' x 18' White Suede (7) 10' x 18' White Suede (8) 10' x 18' White Suede (9) 10' x 18' White Suede (9) 10' x 18'	Description		Qtty	Price		Total
In Grey Como Velvet with Piping NEW 18'RND x 17'H - Cover Color Upon Request		Painted Arcade white High-glosss Custom Printed Decal for Front of Bar	1	\$5,400.00	Т	\$5,400.00
(4) 16" x 16" Grey with Piping NEW, (4) 16" x 16" White Suede, (4) 18" x 18" Grey with Piping NEW, (4) 16" x 18" White Suede \$180.00 T \$720.00 Stand Up Tables - Palm Springs - White Wire W/ White Glass Top With Tennis Balls on Frame 2981 & Dianard 80 BH \$192.00 T \$1,536.00 Small Dining Tables - Palm Springs - White Wire W/ White Glass Top 31"Diam x 29" 1/2H \$1,536.00 T \$1,536.00 Dining Chairs - Palm Springs - White Wire Chair White Cushions 21"W x 24" L x 22" H 40 \$30.00 T \$1,200.00 Wint Cushions 21"W x 24" L x 32" H \$36.00 T \$1,920.00 T \$1,920.00 Wint Velutio Platinum Covers Left - 4448 E W 608 E 8 W x 338 E 8 B W 408 E 8 W x 338 E 8 B W 408 E 8 W x 338 E 8 B W 408 E 8 W x 338 E 8 B W 408 E 8 W x 338 E 8 B W 408 E 8 W x 338 E 8 B W 408 E 8 W x 338 E 8 B W 408 E 8 W x 338 E 8 B W 408 E 8 W x 338 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 B W 408 E 8 W x 348 E 8 E 8 E 8 E 8 E 8 E 8 E 8 E 8 E 8 E		in Grey Como Velvet with Piping NEW	6	\$42.00	Т	\$252.00
Glass Top With Tennis Balls on Frame 298 % DiamA13 % H		(4) 16" x 16" Grey with Piping NEW , (4) 16" x 16" White Suede , (4) 18"	12	\$30.00	T	\$360.00
White Glass Top 31*Diam x 29* 1/2H		Glass Top With Tennis Balls on Frame	4	\$180.00	Т	\$720.00
### White Cushions 21*W x 24*L x 32*H Sofas - Berlin - Serpentine (3 Piece Set) - New		White Glass Top	8	\$192.00	Т	\$1,536.00
With Velutto Platinum Covers Left - 4488 W 6088 8 all X 3238 8 all Right - 4488 8 all X W 6088 8 all X 3238 8 all Right - 4488 8 all X W 6088 8 all X 3238 8 all 14,052.00		White Cushions	40	\$30.00	Т	\$1,200.00
Communal Tables - Tokyo - 5'		With Velutto Platinum Covers Left - 44âN 🛭 W 60âN 🗈 âN X 33âN 🗈 âN NHght - 44âN 🗈 âN XW		\$480.00	Т	\$1,920.00
Communal Tables - Tokyo - 5'				Total Cocktail Switch		\$14,052.00
Arkade White - White Top (Wood) (10) 5'W x 22"L x 38"H Frame Color Upon Request Stand Up Tables - Palm Springs - White Wire W/ White 2 \$144.00 T \$288.00 Glass Top 29âll li Diam41âll li H Barstools - Palm Springs - White Wire W/ White Seat 24 \$24.00 T \$576.00 20"W x 18"L x 34"H Bars - New York - Folding 6' 1 \$1,056.00 T \$1,056.00 Painted Arcade White - With Decal Front and sides 6'W x 31"L x 42"H - Color Change Upon Request Total Garden Room \$2,424.00	Garden Room					
Glass Top 29âl ® Diam41âl ® H Barstools - Palm Springs - White Wire W/ White Seat 20"W x 18"L x 34"H Bars - New York - Folding 6' Painted Arcade White - With Decal Front and sides 6"W x 31"L x 42"H - Color Change Upon Request Total Garden Room \$2,424.00		Arkade White - White Top (Wood) (10) 5'W x 22"L x 42"H - (3) 5'W x 22"L x 38"H Frame Color Upon	3	\$168.00	Т	\$504.00
Bars - New York - Folding 6' Painted Arcade White - With Decal Front and sides 6'W x 31"L x 42"H - Color Change Upon Request Total Garden Room \$2,424.00		Glass Top	2	\$144.00	Т	\$288.00
Painted Arcade White - With Decal Front and sides 6'W x 31"L x 42"H - Color Change Upon Request Total Garden Room \$2,424.00			24	\$24.00	Т	\$576.00
· ·		Painted Arcade White - With Decal Front and sides	1	\$1,056.00	T	\$1,056.00
Rallroom				Total Garden Ro	om	\$2,424.00
Dulii VVIII	Ballroom					

Description		Qtty	Price		Total
	Fabric Treatment in Charcoal Grey Velvet In stock Drape to Cover - 120' x 8'4" Height Lower Section With Valance 250'x 10 and 14 for Center High Point With Valance 140' x 12'H For Solarium with Valance	1	\$10,800.00	Т	\$10,800.00
	Custom Made Penels With Tennis Balls and Rackets Main Room 6- 4'x 10'H 3 to have Rackets painted in White with Logo and 3 to have Balls, Panels Painted in Gray - Matte	6	\$1,680.00	Т	\$10,080.00
Fi	Dining Chairs - Florence - White W/armrest & Wood Frame 27"W x 23"L x 40.5"H	2	\$22.80	Т	\$45.60
	Stand Up Tables - Palm Springs - White Wire W/ White Glass Top For Photo Booth 29âM M Diam 41âM M H	1	\$144.00	Т	\$144.00
	Banquettes - Monaco - Straight White Channeled W/ Skirt 6' 10 Kids Lounge - 1 Adult area 6'W x 39"L x 30"H	11	\$360.00	T	\$3,960.00
BOOST	Coffee Tables - Kids - Shoe Box Painted : Arcade White 49"W x 25"L x 18"H	4	\$216.00	Т	\$864.00
	Coffee Tables - Rectangular - Multicolor Painted : Arcade White 48" x 24" x 18"H	4	\$240.00	Т	\$960.00
	Ottomans - Standard Pod in White 18"RND x 17"H - Cover Color Upon Request	40	\$42.00	T	\$1,680.00
	Daybeds - Rectangular W/ Skirt Daybeds - Rectangular W/ Skirt - White Suede w/ Bolsters 36"W x 70"L x 12"H - Color upon Request	2	\$180.00	Т	\$360.00
	Mix and Match Pillows (6) 20" x 20" Green , (4) Lumbar Green , (4) Lumber Grey with Piping NEW , (6) 20" x 20" Grey with Piping NEW , (4 Lumbar White , (6) 20" x 20" White Suede	30	\$30.00	T	\$900.00
	Bars - New York - Folding 6' To be painted Hills Of Ireland 6'W x 31"L x 42"H - Color Change Upon Request	3	\$1,056.00	T	\$3,168.00
	Custom Made front for New York 6'H Bar Rackets and Balls painted Hills Of Ireland - see drawing	3	\$540.00	Т	\$1,620.00
	Barback - Tokyo - Straight Basic 6' X 7'6"h - Metal Painted in Hills Of Ireland 6'W X 18"D 7'6"h	3	\$318.00	Т	\$954.00

Description		Qtty	Price		Total
	Custom Build in Facade To Enclose Barbacks Painted Hills Of Ireland Back to Have Decals Front to have 2 light with Rackets	1	\$3,000.00	T	\$3,000.00
			Total Ballro	om	\$38,535.60
Merch Booth					
	Custom Cubbies 12"x12"x 12" Painted in Arcade White	12	\$0.00	Т	\$0.00
	Custom Showcase 4'w x 18"D x 7'6"H See drawing - painted in Hills of Ireland with Arcade White Base in green with modern molding in white Plexi windows on sides Awning Back to have logo decal.	1	\$0.00	Т	\$0.00
	Custom Made Shelves (2) 2' x12"D x 1"H (2) 3' x12"D x 1"H (2) 4' x12"D x 1"H	1	\$0.00	Т	\$0.00
	Custom Merch Booth 16'x 10'Deep x 9'H	1	\$10,800.00	Т	\$10,800.00
	Walking IN Merch booth - finished on both sides Front - 16'w x 9'H with 2 window display, entrance 4'w and sign with decal				
	Side 1 - 10'w x 9'h. with 4' x 3'Hentrance and side p Custom Flat Ceiling in White Poplin 16' x 10' Pockets all around to the stapled to merch booth	1	\$0.00	T	\$0.00
M	Coffee Tables - Curved White With Cushion On top in Grey to be used as Bench 47"W x 16"D x 20"H	2	\$0.00	T	\$0.00
	Accent Tables - Curved White	2	\$0.00	T	\$0.00
	Custom Desk 6' x 24" x 40"H Painted in Arcade White, with logo decal	1	\$0.00	Т	\$0.00
	Custom Cubbies Behind Desk 4'2 x 12"D x 6'h - each cube is 12"x12"x12" Painted in Arcade White	1	\$0.00	Т	\$0.00
			Total Merch Bo	oth	\$10,800.00
Candy Station					
	Custom Made New Candy station Imitating News Stand painted in hills Or Ireland with Decal on top the Market Village	1	\$0.00	T	\$0.00
			Total Candy Stat	ion	\$0.00
Services					
	installation Day 1 Friday Feb 7th TEnt Only Drape	4	\$500.00		\$2,000.00
	Installation Day 1 Friday Feb 7th 10 PM Over Night	8	\$650.00		\$5,200.00
	Strike Team	10	\$550.00		\$5,500.00
	Transportation	4	\$450.00	Т	\$1,800.00

Description	Qtty	Price	Total		
Manager on site - pre production	1	\$2,500.00	\$2,500.00		
Installation Day 2 - Crew to finish and Flip	8	\$650.00	\$5,200.00		
Flame Proofing for Tent Drape and ballroom Drape	1	\$1,500.00	\$1,500.00		
Please make checks payable to Revelry, Inc.		Total Products:	\$81,543.60		
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		abor/Services/Misc:	\$23,700.00		
		•			
Notes	1	axes (tax excempt):	\$3,261.74 \$1,630.87 \$0.00		
		Discounts:	(\$0.00)		
		Total:	\$110,136.22		
		Payments:	(\$0.00)		
		Balance:	\$110,136.22		